EARAZROREIERT — 2 N—XBISY —F 20195 7R 30H (k) 7EIAFH3IH

Gl >%—# B3M BRI R
[A&4£] 1 7% :2,100,000 @ 2 7% :840,000 @ 3 3%&:525,000  ~ 4 3#&:315,000 @ ~ 5 7 :210,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o o . XHEZ 112, - . — BERL ()
il [ #y koLgs— o4 gl 1(1_2)8 1-1 37.2 1 (5_028) /ﬁmﬁgﬁ“
R:AX—b77)0> B:AxLavxOr TEESS
R 5 | EHEX 1:12.8 2-2 72| — 4 SRR (/I\HE)
o] 4| BTV T I " 5.0 (%) ’ ’ (_829) ) 2897 T—LK
R:2¥— k770> B:OMYLI2TY— R FERS
VN S— K st 4 | AEOBE 1:12.8 3-3 36.9| — 6 41 | ERE (KH)
3 2 | X T —=IN=FR 56.0 5E) (1) |IEOA—E
R:VZRB—IZ2&8— B:Y—TI— Bk JiE—
9t = o6 | HIIIE 1:13.9 7-5 37.5| — 5 452 | BER= (KFH)
4|5|5|RFTTRE 56.0 (5) (1) |EAARE=
R:T7L>FFE2T1 BHYZ—-FIHF— () #8a—-FL—>a>@qE77
N B4 | HEEfE— 1:14.4 4-4 38.4| — 2 509 | EFERE (KH)
517|7 AEY—=X2EI 56.0 (2 1/2) (-11) (%) >>¥>v357
L:7UF—v B:AEY-T1IR% pAtZse]
s P o, [© et 15, = . = =17 AN
6 3 7L 2R i B 5.0 ! (145)2 o7 %9 ¢ :?2) G| ’
L:b—trkvLArY B:ETFU-— EEENT ¢ ]
=~ . BER : - — KEFith (KH)
7 63T/ KU—%— 6 e 1.(146).1 5-6 39.9 7 (4_632) miﬁ%
LT RIAY L= B RU—LhLDHL FREHIS
® I —F—EBIERL
13=7r=
20—F—
Jol=5r= 1,4,2,7,6,3,5
40—+ — 1,4,2,7,5,6,3
[ N3
BB 1 220/ 714K 1-4 190H B = 1-4 370 3EHE 1-2-4 1,210
8 B 1 160M 1-2 530M B H 1-4 680M K31 1-4-2 3,820
4 230M 2-4 6709

ABICOVWTRDTEEERROODE. TR LIV,




